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1 100kN/mM%#BZ % - -~ — —|3m%EiEZ5 -~ - — —| 100kN/ %8z 5 — -~ — —|3mFBZS -~ — — —
Thilst 1.00] 000 ~ 516 64.33 | 1 List | 000 ~ 5.16 | 1.93 9.78 Thilst 1.00| 500 ~ 6.00 64.33 | hLlst | 500 ~ 6.00 ] 1.93 9.78
9 100kN/mM%#BZ % - -~ — —|3mZEBAD -~ - - —| 100kN/mM%#BZ % — -~ — —|3mEFEBZD -~ — — —
Zhn st 1.00 ] 0.00 ~ 3.96 49.64 | x4 | 000 ~ 3.96 | 2.09 10.57 Zh st 1.00 | 500 ~ 5.02 49.64 | st | 500 ~ 502 | 2.09 10.57
3 100kN/mM#%# 8% % — -~ - —|3mZE#B2E| — ~ - — —| 100kN/mZ#8 x5 — -~ — —|3m%Ei#BZ2% -~ — — —
Thilst 1.00 | 000 ~ 7.34 9355 | #nbList | 000 ~ 734 1.79 9.04 Zhilst 1.00| 500 ~ 946 9355 | Zhulst | 500 ~ 9.46 | 1.79 9.04
4 100kN/mM##B % % — -~ — —|3mZEHBAD -~ - - —| 100kN/mM%#BZ 5% — -~ — —|3mFBZD -~ — — —
Zhn st 1.00] 000 ~ 7.03 89.23 | x4t | 000 ~ 7.03| 1.91 9.67 Zh st 1.00 | 5.00 ~ 9.28 89.23 | #nullst | 5.00 ~ 9.28 | 1.91 9.67
5 100kN/mM#%#BZ % — -~ - —|3mZE#BZE| — ~ - — —| 100kN/mZ#8 x5 — -~ — —|3m%Ei#BZ2% -~ — — —
Thilst 1.00] 000 ~ 7.76 9958 | #nbLis | 000 ~ 7.76 | 2.27 11.46 ZTh Lot 1.00 | 500 ~ 10.58 99.58 | hLlsl | 500 ~ 1058 | 2.27 11.46
6 100kN/mM##B % % — -~ — —|3mZEHBAD -~ - - —| 100kN/mM%#BZ 5% — -~ — —|3mFBZD -~ — — —
Zhn st 1.00] 000 ~ 752 96.15 | Zn iyt | 000 ~ 752 2.34 11.83 Zh st 1.00 | 5.00 ~ 10.29 96.15 | Zxllst | 5.00 ~ 1029 | 2.34 11.83
7 100kN/mM#%#BZ % — -~ - —|3mZE#BZE| — ~ - — —| 100kN/mZ#8 x5 — -~ — —|3m%Ei#BZ% -~ — — —
Thilst 1.00] 000 ~ 6.13 76.86 | #nList | 000 ~ 6.13| 2.00 10.08 Zhilst 1.00| 500 ~ 8.00 76.86 | ThLlst | 500 ~ 8.00| 2.00 10.08
8 100kN/mM##B % % - —_ ~ — —|3m%#Ex%| 000 ~ 046 | 434 21.93 | 100kN/m%#B 25 — — ~ — —|3m%E=x5| 500 ~ 590 | 4.34 21.93
Zh st 1.00] 000 ~ 1.25 307 | #nblist | 046 ~ 1.25] 3.00 15.16 Zh st 1.00 | 500 ~ 590 307 | #hist | 500 ~ 500]| 3.00 15.16
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
ZThilst ~ Zh st ~ Zh st ~ ZThst ~
100kN/m%E#BZ % ~ ImEHEZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ s ~ Zh st ~ Zh st ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
ZThilst ~ Zh st ~ Zh st ~ ZThst ~
100kN/m%E#BZ % ~ ImEHEZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zh st ~ s ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ ZThst ~
100kN/m%#BZ % ~ 3ImEHEZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh Lot ~ Zh LS ~
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